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—702210241044044 + 4\/_042 (044 ) 044 + 13\/7042 044 C14Chy — 25\/7042 Cag 024024
—VT0cp ciiica ¢y — 5VT0cg ¢ip (c1,)? + 14v/10¢; 0443044044 + 28cy, 0443024034
+7\/_C42 0444@214034 14\/_0421 0244@114044 2\/7042 (044) 044 + 4\/_042 Cyq 031404214
+ﬂ042 0441 0914024 5\/_042 (044 ) 044 4\/_042 Caq (044) 2\/7042 Cag 04114024
+16vV14c55 cpfcychy + 14V5es eii ey — 28Vbeis cadclucly
—7v/35¢35 ¢ (chy)? + 28V/bess cai chyciy) [ (cho)*/®



35 = ca(4,4)2c4(2,2)2 = 211 %(15(0312)2(0241)2 - 9@(0}12) 044 044 + 9\/_(042) 044 044
_6\/7(042) C44 C44 10\/7042042(044 ) + 12\/_042042044 Cqq — 6\/7042042044304114
+4\/_C42C42044 044 \/_042042044 Cyq T 9\/_042042044 Cyq — 5\/7042042044304214
+14\/7042C42044 Ciy + 10(042) (044) - 17(042) C44 044 + 8(042) C44 Cz214
+7(C42) 0443024 28(042) 044 044 + 6\/_042 042044 C44 27\/7042 042044 Cz114
le5\/71042 0420443044 42\/_042 042044 C44 10042 042(044) + 17042 042044 04114

—8cyy 04112044 C44 e ChoCas C44 + 28042 CloCri Ciy — \/7 042 D CuCly
+9v/3c C42044 C44 5v21eg C42044 C44 + 144/3c5 ¢ C42044 ¢ty +15(ci )*(chy)?
—9vV10(ci >ty + VT (e e ¢y — 6f(042 ) Cui €1y — 20¢35 ¢ ()
+34CZ22C§‘20441044 16¢55 ¢ocai ¢y — 14042 CaCar €y + 5655 Clocis ¢y
+6v5¢55 042044044 27V/2¢15 cipcan €y + 15V 14cs chyeaicy
—42 \/_042 C42044 C44 1()\/7042 042(044) + 12\/_022 0220914014
—6+/42 C42 C42044 C44 + 4\/7042 0420442044)/ (000)28/ ’

Dy = 3(4,2)y = 1;6 ;(15(042) (044 ) - 10\/7(042) C44 C44 + 2\/_(042) 04440914
_10\/_042042044 C44 + 6\/7042042044 C44 10\/7042042044 cig +30(cly)? (0241)2
_16\/_(042)20242024 + 10V 7(cly) % C44 10v/6c,¢35(cad )2 + 14v/15¢5,chyciicly
_10\/_042042044 Cyy t+ 10\/7042042044 Caq — 4\/_042042044 cly
+30\/7042C4202420z114 10\/_04204202430314 + 36(042) (044) 60(042)202410314
+30(c42)20542c£214 + 6\/_042 042044 C44 30\/_02210421202420314 + 20\/7042 042044 C44
_70\/_042 042044 C44 32C42 042(044) + 70cy, 042024104114 80cy, 0420442@214
+70c;5 0420243034 4\/702210220914044 + 30\/_042 0420241 Cz214 10\/7042 0420442024
+30(C42 ) (044) 16\/7(042 )2024@214 + 10\/7(042 ) Cu Gy + 20222@212(024)2

—10c C42044 C44 + 30¢ss CaCai C44 70042 Chcichy + 140042 ChaCii €l
+6\/_C42 042044044 30\/7042 042044 C44 + 20\/71042 042044 C44
_70\/_042 0420243034 10\/70222022(044) + 14\/_0222022044044
—10vV/42¢;5 cSycai ¢y + 10V/42¢5° ¢} 042044 C44 10v2¢55° ¢y eiqciy
+6\/_C42 0421024024 10\/_042 C42 C44 Ciy + 15(042 )?(cia)? — 10\/_(042 )*ChuCiy
+2v/70(c35)?clachy) [ (o)

1 /1 _ _
D3r = cu4(4,2)2¢4(2,2)2 = 21 10( V210(C42) C42C44 + V105 (042)30443 +4\/%CZ2(022)2C444

\/_042042042044 7\/_042(042)20242 +v/30(cf,)? 042044 ‘|‘ 4v/15(c5,)? C42044
—6\/7(042) C44 2 105042 (042)20243 + 5\/7042 C42042044 \/7042 (042) C44
—7/10 C42 C42042044 2\/_042 C42042044 + 4\/7042 (042) C44 + 7\/_(042 )? 042044
—V/15(ci )*clachy — TV5(chy ) 042044 +v/105(cyy ) 044 + 2\/_042 (cho)?cas
—6\/ﬁ0222042042024 + 7V3cis (042) 044 + 16v/2¢15 cochcly — TV10¢, 04204205:4
+\/%CZ22(022) C44 6\/7042 C42 042044 + 5\/_042 Cy2 04112044 \/_042 Cy2 0220i4
—v210¢35 (¢39 )2cty + 2v/30(c5))*chycty — 2v/105(cs5)*clochy
+4\/3_(C42 )20220?14)/(000)28/3



cI>38

(1)41

Dy3

D5

/1
= ¢5(5, 5)8 = ﬁ( (055) + 2055 055 2055 055 + 2055 C55 2055 C55 + 2¢5; 055)/(000)16/3

1
P39 = ¢5(3,3)) = \/;( (cB3)% + 2055 g — 2¢55Chs + 20533023)/(000)16/3

1 _
Py = os(1, 1)8 = \/;(_(Cg1)2 + 205110é1)/(000)16/3

= ¢5(5,5)200 = \l 5147 214 (5\/_022(055 ) —2v 70032055 Csp T 4\/_4022055 Cs5 — 120320554C§5

+2\/_022C55 C55 \/7022055 C55 + 2\/7022055 055 10\/7022055 Cs5

+7\/_C22055 055 3\/_022055 Cs5 + 5\/7022 (055) 9\/_022055 055 + 6\/5082055%%5
—V2cyc55 ¢ 055 67255 ¢4 055 +15v2c),055 055 \/702_21055055 + 2v/21c5 55 2

_10\/_022 055 055 + 7\/_022 055 055 3\/_022 055 055 + 5\/_022 (055) - 2m05220250§5

+4v/1dc55 a5 ¢35 — 12055 ¢35 s + 2v/1Bc5; ¢35 ¢35 ) [ ()7

= ¢5(5,3)200 = \ 5210 231 (V 210 022053055 3\/7022053055 + \/70220530

—V/353,05¢55° + V15C30Ca3 Cos — V/BCBoCas (s + (BoCas Chy — 2\/_022053055
+4\/7022053055 \/W022C53C55 + 4\/7022053055 5\/7022053 Cs5 + 2\/7022053 Css

\/7022053 Cs5 + 2\/7022053055 3\/7022053055 + 3\/7022053055 10¢35¢85¢35
+3\/_022053 055 3\/?022053 055 + 2V Tchyc535¢3 055 \/?02_210530552 + 2v/6¢5 0530551
_5\/7022 053055 + 4\/_022 CB3CHs — \/Wcm Co3 35 + 4\/7022 Cas 5 — 2\/_022 Cs C5s
+Co 053055 \/_022 C33Co5 T \/7022 Ch3Chs — V/35¢as ¢ C33C35 + VT0¢55 ¢53 c3s
—3\/7022 053 055 + \/T%z C53 055)/ (080)7

= ¢5(3,3)202 = \l 705 (\/7022(05_31)2 - 2\/5032053 cs3+ V1 022053 053 \/_022053 Cs3

105

+v1 022053 053 50220533033 + 2¢, (0(5)3) — 360, Chg + BCDyC55 By )
—V2c ¢} 053053 + V15¢5, €53 €23 — By g 3+ V60os (chg)? — 255 gty
+vV10c55 ¢35 ¢33) / (chy)”

= ¢5(3,1)200 = 105(\’ C22051053 \/7022051053 +022051053 vl C22051053

+2\/_022051053 \/7022051 053 + \/_022051053 3022051053 + \/7022051 053
—V/3c5 ch1 s + 2v/2¢; 2 by — V1005, 51 2y + ¢y chy ety — VB ey

+V15c5; ¢ cds) [ (cho)T

/1
= c5(1,1)200 = _(\/5032(051 ) \/702205110& + \/ﬁcgz(cgl)2 + \/50(2)205_110é1
—V6eg ek + fc22 (c51)*)/ (o)’
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+2v/15¢5,¢55°¢ 055
+7v/6c)yc55 ¢ 055
\/_042055 Cs5 —
—10v2¢;, 55 ¢ 055
+4v14c s csy c3y —

3v3 04205550315 + 5\/7042 (055)
6\/_042055 055 + 15\/_042055 055
+ 7V6cs 055 Chs —

Pyr

—V/35¢3, 5055 + V1Bchycas cas —
+4\/7042053055 V105¢)y¢h50s5 + 4Vt hacss —
\/7042053 Cs5 + 2\/7042053055
+3\/_C42053 055 3\/7042053 055 + 2\/7042053 055
_5\/7042 053055 + 4\/_042 CB3CHs —
+C42 053055 \/_042 C53055 + \/7042 C53055
—3v/14 042205_32c§5 + \/Tcz;z C53 055)/ (000)23/3

Das

¢5(3,3)cs = \/7 (V6c2,(c5i)?

2 2.0
105 — 2v/bchye5 s
0
+v1 C42053 053 5042053 053 + 2042(053)
—V2c ¢} 053053

V1 C42 053 C53
+vV10c5 53 ¢33) [ (chy)#/3

5042 053 C53

c5(3,1)2cs = \ Tor (\/7042051053

105

1 0 — -

+2\/§C42051053 \/7042051 Cs3 T \/6042051053
-1 1 0 —1 1

—V/3¢k ¢ty B 4 2v2¢ & ckg —

+V15c s cds) [ (chy)?/?

/1
P50 = c5(1,1)9cs = B(\/gciz(%_f)z
—\/602210%051)1 + \/50222(Cé1)2)/(080)23/3

1

D5y 05(5, 5)404 = 3

4
+2V6¢4, 055 chs + V106 c55 oy —

—2v/bcky (55 )2 + V4 C4405_520(5)5 2y 15044055 c2s
—V 700411405_5%%5 +2v 15044055 25 — 12cc50ch C55
jL\/7044055 055

1 -4
-7 C44 055 055 +2v1 C44 C55 C55 12C44 C55 055

—2V/15¢5 0 c57 C55 + 12044205_53055 + v10c;; 055055
—2v?2 0443 0552 Cs5 —
+2v/6¢3; ¢ 055)/(000)23/3
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c5(5,5)2cs = \l 5747 214 (5\/_042( ) —2V7 04205_520(5]5
V1 042055 055 +2v2 042055 055

3\/_042 055 055 + 5\/_042 (055)

12C42 055 055 +2v1 C42 Cs5 055)/(000)23/3

\/_042053 Css + 042053 055
3V cksesd + 3V1 042053055

V105 042 053 055 + 4\/7042 053 055
V3 042 C53055 + V7 042 053 055

9 1 -1
\/7042051053 + CiaCs1 Cs3 —

0.0 .0 0 1
— 3CypC51C53 + \/6042051 Cs3
1 1.9 Z21 1
V10¢y5 ¢51 55 + ¢45 €51 055 —

V' 35¢ (055) +2v3 044055055

—4 2

31 2
+ 4V 14cG, 55 s — 12655055 G5

10\/7042055 Css
9\/_042055 055 + 6\/50912055%%5
V106, cschs + 2v/21 5y c55 ¢
— 2v/70¢35' %53y

c5(5,3)2cs = \l 9310 231 (V21 042053055 3V1 042053055 + V7 042053055

2\/_042053055
5\/7042053 055 + 2\/7042053 Cis
10¢5¢85¢35
VTen c 053055 +2V/6c;, 0530551
2\/_042 053 055

2 3.1
+ V10cyc55 C53 —
3

1 1.0
\/5042053 Cs3

— -3 3
3042053 053 + 5042053 Cs3

+ 6 6cys (053)

20 2
— 2V/Begs Ayl

e R
10cy9¢51 53

1

2.0 .2
Ve ey

- \/60411205_110?1 + \/5022 (0(5)1)2 + \/50220511051)1

/1 _ _
> —(_ \% 350?14(055 ) +2v3 044055 055 6\/503405540&
— 6v/2c} c55°¢3 C55 +2v3 C44055 C55 —

2v2 044055 C55
+ 123,655 ¢35 + 2V/3ciyca5 ¢ 055
3\/7044(055) + 4\/7044055 055

6f044055 055 + 6v/2c}, 55 e C55 + 6v2c}yc5cBs + 2\/_044 C55055

2\/_044 (055) V4 C44 055055
6v2 c443cg5025 + 2v/30c;; 55 ¢l
6\/7044 055055



(I)53

D54

D52

= ¢5(5,3)4cs = é\/ 5010 (14V/30c} clycs? — 84ch cacast + 28V6ch con e
_14\/_04405_32055 + 2\/WC44053 Cs — 35\/_04405305_5 + 7\/_044053055
+42¢3, 05055 — 49V263, ¢4 5 + 11V/35cd i css — 15V/T6, 55D
+15v14¢}, ¢85 + 4\/TC44053055 9\/_044053055 + 2v21c}, g5y
+43¢,¢53 ¢ — 40V3ch 55 s + 15V15¢3 ¢35 cls — 9VT0cy, chycss
_\/TC44C53055 + 16\/_4044053055 19V6cy, g5 — \/_044053 055
+25v/5¢), 5 ks — 5v/210¢), 55 cEs + 30\/?044053055 10v/7¢} C44053055
_11\/_044053055 + 60044053055 11\/_044053 055 10\/7044053 C55
+30\/?C44053 055 5\/TC44 C53055 +25 \/_044 053055 \/_044 053055
—19\/_044 C53055 + 16\/_4044 C53 055 \/TCM 053 055 9\/7044 053 C55
+15v/15 C44 C53055 - 40\/_044 C53055 + 43044 053055 + 2\/_044 053055
—9v/42¢;] C53 055 +4 210024205320315 + 15\/7044 Ch3Chs — 15\/_044 C33C35
+11y/35 C44 C53055 49\/7044 C53055 + 42044 C53055 + 7\/_044 C53 055
_35\/_04430532025 + 2\/WC44 C53055 14\/7044 C53055 + 28\/7044 053025
—84044 053055 + 14\/_044 0531025)/(000)23/3

05(5 1)404 = %
+4044051055 \/_044051 055 + 2\/?044051055 \/_044051055 + \/_044051 0551
_\/7044051055 + 2\/7044051055 \/_044051 055 + \/7044051055 50440510g5
+\/_C44C51 055 V10c e} 051055 +2v/6c3, ¢ 051055 \/7044 051 2 + V6eiich el
—\/7044 051055 + 2\/7044 Ca1' G35 — V3eich Gy + dcg i el — Begl sy iy

e chie3s — 3ei S ¢k + 3v/5er gl e ) [ (chy)

1 1 4
55 (3\/7044051055 3044051055 +C44C51 C55 6044051055

c5(3,3)scs = 3 77( \/7044(05_32)2 + 2@0?14053305_31 + 2\/%2405_3205_31

—3v14c} 6555 — 2v/5¢3, (c55 )2 + V6,055 s 4 6v/3ch ca3 chg + V/30¢), 55 B

804405_320%3 2\/704405_330%3 3\/_044(053) + \/50440531%3 + 7\/704405_320%3
+3V2¢), ¢35 ¢35 + V/30cy cBacks — 8y ey By — 2V/15¢y) ¢35 c3g — 2v/5eif (chs)?
+V060, A5y + 6V3ciicsy c3g + 2V Teg clacks — 3v14cy ) dycds — /35y (c2s)?
+2v/21cy e3ycls) /(o)

/513 -3
c5(3,1)acs = (2ﬁ044051 C53 \/_044051053 C44051 053 + C44051053
+ 2\/7044051053 ‘|' V15c3,651 csy — \/7044051053 V C44051053 V C44051 33
+\/_044051053 + 4044051053 + \/_044051 053 V C44 C51053 V1 C44 C51053
21 /21
—V3 C44 C51 053 + V1dcy 051053 + 2\/_044 C51053 + C44 C51 C53 C44 051053
23/3
- 7C44 051053 + 2\/7044 051053)/(000) /
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(I)56

¢5(5,5)202(2,2)2 ﬁ(—w(%)z(%ﬁz +2v/210(chy) ¢35 B
_4\/7(0%2) 055 055 + 12\/7(022) 055 055 6\/_(022) 055 055 + 10\/7022022(055 )2
_8\/7022022055 055 + 16\/_022022055 C55 24\/_022022055 C§5

+4\/_022C22055 055 + 2\/7022022055 055 2\/_022022055 055 + 200220220553035
_14\/_022022055 Cs5 + 6\/7022022055 Cs5 — 10(022) (055) + 18(022) 05510é5
_12(0(2]2)205_52C§5 + 2(0(2]2) C55 C55 + 12(022) C55 055 - 30(022) C5550?5

—24/30 022 C22055 055 + 12\/7022 022055 C55 20\/7022 C220553055

+42\/7022 C22055 055 18\/_022 C22055 055 + 10022 622(0g5) 1802_210%205_510},5
+12¢9 0220552055 2¢y9 0220553055 1202210220554055 + 30022 0220555025

+2v5 02_210(2)20(5]5055 2\/_022 022055 C35 + 20022 022055 Cls — 14\/_022 02205530315
+6\/_022 C22055 055 15(022 ) (055) + 2\/T(C22 )?cB5CEs — 4\/7(022 )% 55 Cgs
+12v/3(c )25 cas — 6v/5(con ) Cos €5 + 20¢55 €35 (55)% — 36c5 By Chs

+ 2402_220320552035 Ay (3o Cas oy — 24055 (o Cas Chs + 60C55 (3oCa5 2
—2v/30¢5; ¢ Rschs + 12T o5 chycss ¢ — 203655 oo €3

+42\/7022 02205530315 18\/_02_220520554025 + 10\/_02_22032(055)2

—8v/35¢55 (30525 + 16V T o5 955 ¢ — 2472055 ¢y 55 g

+4\/_C22 0220553025)/ (000)26/3

c5(5,3)262(2,2)2 = 1| 525 (=3V Tk elacsd + 3V (chy) hycsd

210(chy) chacss + \/W(Cm) Bacss — 3vVB(cyy) g iy + V1B(chy) el
_\/3(022)205:33051)5 + 4v/105¢0, ¢35 C35c55 — 12V Ty BocBacas + 4V/35c3yc3ychscss)
_2\/70(2)2022053055 + 2\/7022022053 055 - 2\/_022022053 Cs5 + 2\/_022022053?)0%5
+2\/_022C22053055 4\/7022022053055 + \/TC22022C530552
_4\/7022022053055 + 10¢3535C55 055 4f022022053 C55 + \/70220220533035
_2\/7(022) 053055 + 3\/_(022) C53055 6\/_(022) 053055 + 10\/_(022)2Cg30g5
_6f(082)205310é5 ‘|' 3\/7(022)205_32035 2\/7(022)205_33025 12\/_022 C220230554
+8\/_022 C22053C 6\/7022 022053055 + 8\/_022 0220530551
_10\/_022 C22053 055 + 12\/_022 C22053 C55 2\/_022 C220533055
+2 \/_022 C22053055 3ﬂc22 022053055 + 6\/_022 C22053055 10\/7022 0220530g5
+6\/_C22 022053 C55 3\/_4022 C22053 055 + 2\/7022 C22053 055 + \/_402210(2)2C§3Q552
—44/3 022 C22053055 + 10022 C22053055 4\/_022 C22053055 + \/Tcm 0220531055
—4v/14c5 & 022053 055 + 2V42¢55 Sycsichs — V3(cm ) cBacss + V15(c) 0530(5]5
—3v/5(cy )2chgcts + V105(co )2cggc§5 \/m(cgzl)zcgglc§5 + 3VA42(cy )P chs
_3\/7(02_2 )205_33025 + 4ﬁ022 0220530 6\/_4022 022053055 + 12\/7022 0220530551
—20\/_02220320g30g5 +12v/5e5;'¢3 022053 055 6v/14c; c3 022053 C§5
+4v/14cy5¢5 022053 055 2v21co 0220530 ’ 4+ 12v2¢;5; 022053055
_10\/_022 022053055 +8v/15¢5; 022053055 6v/35¢5; 022053 C§5
+8v/21 022 022053 055 12V7¢55 022053 Ca5 + 2v/2¢55¢§ 0220530 — 2v/10¢3 C39CE3C85
+2v/30¢55 022053055 2v/70c5; C9C33Ca5 + 4v/35¢5; ¢ C92Cs53 Cgs
_12\/_022 022053 055 + 4\/WC22 0220533025)/ (000)26/3
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Py = 3,302 2 = f—5<—3<c;2>2<c;;>2 V(e Pl — VB (el
+2\/_C(2)20§2 (053 ) 4\/7022022053 Cs3 T+ 2\/_022022053 Cs3 + \/7022022053 Cg3
_\/_022022053 Cs3 t+ 502202205330§3 2(0(2)2) (053) + 3(022) C53 Cfl>3
—5(022) Ca3 g — 2\/7022 022053 C83 + 3\/7022 022053 ey — 5v/6c5 3yc53 2y
25 €y (35)7 — B ooy Chy + 5Cay ChoCay €y + V/2¢5 BocBachy
—V/15¢5 02205310§3 + 502_210320532033 — 3(c)*(chg)? + V30(c )y
—\/_(022 ) C53 C53 + 4cy; 022(0(5)3) - 602_2203205310é3 + 1002_22032053%?3
—2v/3¢55 C22053053 + 3v10c5; ¢ 022053 (33 — 5V/6Ca5 ooy €3 4 2¢/6055 ¢y (chs)?
—4f022 022053053 + 2\/_022 C22C53 Cg:a)/(coo)%‘/3

D59 = ¢5(5,5)2c3(3,3)2 = 3 5005(15(033) (055) —2v210 (033) C55 C55 +4\/_(C33) C553051>5

—12\/§(C§3) C55 055 + 6\/_(033) C55 Cs — 5\/7033033(055 )? + 20\/_03303305520(5]5
_8\/7033033055 055 + 12\/_0330330554055 - 10\/_033033055 c3s

—V10c35¢35¢55 ¢4 C55 + 2v21c83c55055 ks — 10\/7033033055 25 + TV chacss cis
_3\/7033033055 Cs5 + 10(033) (Cg5) - 18(033) 055 055 + 12(033) C552055
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+27C33 033055 055 18033 033055 055 + 305310:133055 055 + 18033 03305540315

—45¢33 39055 s — V10c35 3clschs + 2v/21ea3 ycss ¢y — 10V 2e35 cacsi 3
+7v/6c55 355 a5 — 33033 Acas cls + 15(ca3 ) (chs)? — 2v/210(c33 )25y
+4v/42(c33 )20551025 — 12v/3(c35 )55 chs + 6V/5(c33 ) 5B — 5v/Bess sy ¢
+5v/42¢35¢5 033055 055 5033 ChaCas €35 + 35V 3¢ ChaCas €y — 15V 135 clyess i
+5v/3¢35 033055055 3VT0¢33 chacas €35 + 10v/15¢37 capcscls
_21\/_033 033055 055 + 450532051330554025 5\/_0532033 (055) + 20\/70332033025C§5
—8+/35. 033 C33055 055 + 12\/_033 C33055 055 10\/_033 033055 C55 + 25¢33 033(025)2
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+75C3_330§3055 055 5v/5e33 5 033055055 + 5\/_033 CR3Css (g — 5033 CaCas Cas
+35\/7033 C33055 055 15\/_033 C33055 055 + 5\/705330%,3(055)
— 10V 1453 ehaclscdy + 4VT0c3 gy s — 12v/5es3 ehgess cis
+10V/3c35' cigeay cs ) / (o)
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DPgo = ¢5(5,5)203(3,1)2 = % 5005 (5\/_031033(055 )? = 2v/ 703 e35¢55 ¢5s
+4\/_4031C330553055 12031033055 25 + 2\/70310330555055 \/_031033055 35
+6\/7031033055 Cis — 10\/7031033055 055 + 21\/7031033055 055 9\/_03103305550§5
+10\/7031033 (055) 18\/7031033 Cos 055 + 12\/_031033 055 CBs — 2\/_031033 055?)0%5
_12\/_031033 055 055 + 30\/_031033 Cos 055 10031033 C35Chs + 2\/TC31C33 Cs5 C§5
—20v/5¢k, 37 c55 ¢35 + 14153 ¢35 055 055 303k a5 2
+15\/7031033 (055) - 10\/7031033 C55055 + 4\/TC31C33 Cs5 Cgs
—12V15¢3 ¢35 C55 + 30k ¢33°C5 055 5v/15¢5, c33(cs5 )? 4 10V 14¢5, c3gc55° ¢l
_4\/7031033055 055 + 12\/_031033055 Cs5 — 10\/_031033055 C%s + 4\/_Cg1cé305510g5
_4\/7031033055 055 + 40031033055 055 28\/_031033055 Cs5 + 12\/_031033055 Cs5
_15\/_031033(055) + 27\/7031033055 C55 18\/7031033055 C55 + 3\/70310330553055”5
+ 18\/7031033055 Cs5 — 45\/_031033055 2y + 45 ez C55055 AVA2¢3 ¢35 55 3
+40¢§, ¢35 552 055 28\/_031033 Co5 Chs + 12\/7031033 Cos €35 — 5V/15¢5 ¢35 (chs )
+10v/14c§, ¢35 ¢ C55055 AVT0c3 ¢35 a5 ¢35 + 129565 a3 e chs
_10\/_031033 Cos 055 + 15v/5¢5 033(055 ) - 10\/7031 C3305520g5
+4\/TC31 C33055 Cis — 12\/_031 C33055 C55 + 30031 C33055 ¢35 — 10c5; 03305510g5
+2v/210¢3; C:’,30552055 — 20V/Be3y cBcss cBs + 14\/_031 0330554C§5
_30\/_031 C33055 055 + 1O\/_C?,l 033(055) 18\/_031 033055 C55 + 12\/7031 0330552055
—2\/7031 033055 C55 12\/_031 C33055 055 + 30\/_031 C33055 055 \/7031 C33055055
+6v/7 031 033055 35 — 10\/7031 033055 055 + 21\/_031 033055 Chs — 9\/_031 0330554025
+5\/_C31 €33 (055) - 2\/_031 033 055055 + 4\/_4031 €33 0551055 12¢3; 033105520§5
+2V15c5) e 55 c35) /(o) 2/

Do = es(5,5)acs(L, s = 5 == (15(ch P e52)? — 2v/3T0(ch Vesdels + 4v/ERch Vsl
—12v/3(cyy ) x5 ¢35 + 6v/5(c3) ez e — 2V/1565, ¢4 € J + 6v/ 14k e 055css
—20v/3c5; ¢, ¢55°¢35 + 42¢5 ¢l o35 ¢y — 18\/_031031C§55C§5 +10(c5;)*(c55)?
—18(0&)205_510})5 + 12(031) C552C§5 2(0g1)2055 055 12(031) C55404515
+30(ch))?es5 cBs + 1005110§1(Cg5) — 18¢3 031055 C55 + 12¢3 0310552055

—2cy 0310553055 12031 031055 C55 + 30031 C31055 055 2\/7031 €31 C85C55
+6+/14 031 C31055 25 — 2()\/_031 C31055 cis + 42031 C31055 C55 18\/_031 C310554025
+15(C31 )?(ch5)? — 2\/T(C31 )?c85css + 4\/_(031 )? C55 Cls — 12\/_(031 ) 0552055
+6v/5(ca1 )2csy s ) /(o) *®
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D2

cs5(5,3)2c3(3,3)2 = 211 (6\/_(033) 053055 6\/_(033) 03305_54

+2\/W(C33) 053055 - \/m(c?,g) 053055 + 3\/7(033) Cs3 Coy — \/%(Cé:a)zcs?, C35

+\/7(033) Cs3 Ch5 — 10\/7033033053055 + 6\/7033033053055 10\/7033%30530553

+10\/?C33C33C53055 10\/_033033053 Css + 10033033053 CB5 — 2\/_03303305330%5

_2\/7033033053055 + 4\/7033033053055 \/TC33C33053055

+4\/_C33C33C53055 10033033053 055 + 4\/7033033053 055 \/70330330533035

+4\/_(C33) 053055 6f(033) C53055 + 6\/7(033) 053055 20(033) 0(5)3025

+6\/_(033) C53 C55 6\/_(033) 053 055 + 4\/7(033) 053 055 + 10\/_033 0330530555

—6+/35. 033 C330530% + 10\/?033 C33053055 5\/_4033 C33053055 +5v6 033 033053 C55

—5v/2¢35 ¢ C33053 35 + V10¢35 ¢ C33053 C55 + 6v/35¢35 (3ciscss — 4v/105¢33 GByciacas’

+15v/7c33 3 033053055 20335 (B3cBsc55 + 5v/30¢33 Bacas s

—6v/10¢3; ¢3 C33053 C55 \/WC?,?, C330533055 6\/_033 C33023055 + 9VTeqy ehacRacss

—9v/ 1035 chachscss + 30¢33 chyBacls — 9v/10¢33 C33053 C55 + 9\/_033 C33Css Cos

—6v/7 C33 C330533025 - \/ﬂc?,g C330%3055 + 4\/_033 C33053055 10¢33 ngcsgcgs

+4+/10¢33 & C33053055 V210635 355 ¢35 + 4V 143 0330532025

_2\/7033 C33053 055 + \/_(033 ) 0530551 - \/%(033 ) C53055 + 3\/7(033 ) 0%30},5
210(c33)? 053055 + 2/105(c35 ) C53 055 6v/21(c33 ) 55 chs + 6v/35(ca3 ) 2esy i

—10\/_033 C33053055 +20VTeq5 ¢ 0330530 5\/WC33 C330530552

+20f033 033053055 25v/2¢35 ¢ C33053 C55 + 10V/6c33 cscas chs — DVTess gt s

+v/105¢3; 033053055 6103 033053055 + 5v/30c33 chachacds

—20\/_033 033053055 + 15733 033053 055 4v/105¢35 ey cis

+6+/35 033 033053 Ci5 — 2\/7033 033053055 + 10c53 033033055 10\/_033 C33CH3CHs

+10V7e35 Bacdscds — 10v/1dess cacsy €35 4+ 6V/T0¢35 Bacsicas

—10v/42¢57 0330533025 + 10\/?0333C§3C§3055 15\/70333033C§3055

+15v/10¢33" 3y chacss — 50¢35 C§3C(5)3 Cg5 + 15v/10¢35 35055 i

—15V/Tc53 cacsy c3s + 10V Tes’ chyess’cls — 5VTess aclyess + 10V6c33 Bacdscss

—25v/2¢35 350505 + 20V/5e55' 3clact; — 5v/105¢3; 0330531035

+20V/ 733 3y55 a5 — 10V 2135 e by + V10033 chgCiscss — 5\/705330:1330330(5)5

+5v6c55 cischscts — 5V 1Acss ciaclycds + 10V Teqy ehgesy ¢y — 6v/3bes3 cigcns cas

+10v21cz5 chaess’cls ) /()™
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(I)63

cs5(5,3)2c3(3,1)2 = 211 (\/f031c33053055 3\/7031033053055

+\/7031033053055 \/7031033053055 + \/_031033053 Cs — \/70:]1;10213305_32025

+C31033053 Chs — 6\/7031033053055 + 4\/7031033053055 3\/_031033053055

+4\/_C31033C53055 5\/7031033053 055 + 6\/_031033053 055 \/_031033053%%5

+2\/_C31033 053055 3\/7031033 053055 + 6\/_031033 053055

_10\/_031033 053055 + 6\/7031033 053 055 3\/_031033 053 C§5

+2\/_C31 033 053 055 \/_031 033 053055 + 4\/7031 C33 053055 10\/30:131 05320%30(5)5

+20v/2¢3 ¢33 053055 5VA2¢k ¢ C53 055 + 4V/70¢3 ¢35 C53 c§5

_2\/TC31033 053 C55 + \/_031033 C53055 - 5\/_031033 C53055 + 150%10533C%3Cé5

_5\/7031033 C53055 + 5\/7031033 C53 055 3\/TC31C33 C532055

+15ﬂc3lc33 C53 C55 5\/7031033053055 + 3\/70310330530554

_5\/7031033053055 + 5VTe}) 3y Bacss — V3 Cacas s + 5CYy Caci s
\/_031033053 C55 + 4\/7031033053055 8\/7031033053055 + 2\/TC31033C53C552

—8/10¢3, c33cscas + 2065, chacay s — 8V/3eh gy cis + 2v/14c] cggcss’cy

_6\/7031033053055 + 9\/_031033053055 9\/7031033053055 + 300310330g30g5

_9\/7031033053 055 +9VTE s cds — 6\/_031033053 055 + 2V 14c} c3 By

—8v/3c} ¢35 ¢ C53055 + 20¢3, ¢35 gy — 8V10¢3) e Bychs + 2v/21065, 33 ¢ 2

—8\/7031033 C53 C55 + 4\/7031033 C533055 - f031033 C2:1,055 + 503103320530g5

—5v/3c}, ¢35 C53055 +5V7cd ¢ e C53055 5\/7031033 Coa €35 + 3V/T0c] ¢35 55 s

_5\/7031033 053 055 + 15\/_4031 033053055 - 3\/T031 0330530554

+5v/42¢37 csctacsy — 5v21cs) 033Cg3055 + 15¢3; g s — 5V 351 g B

+v/15¢3; 03305_330%5 2v/210¢3,' ¢3 0330530 !+ 4y/T0c3 0330530553

—5v42c3; 033053055 +20v/2¢51 Bycdscss — 10V5es! 033053 cg5

+4\/_C§11033C53 055 V103 acss’cly + 2v/42¢3) 033053055 — 3V42¢3 chgcdgcss

+6v/15¢5; 0330530 10\/_05110511;3053055 +6v/15¢3; C33C53 Csl>5

—3v/42¢3] 033053 055 + 2v42c5; 033053 35 — \/703110&,)023055 + 6v2c5, ¢ 033053055

—5v/6¢3; 5 033053055 + 4\/_0511033023055 3\/_05110g3053lc§5 + 4v/21c5) s B

—6v/7c3; ¢ 033053 055 + C31 Ca3 023055 - \/_031 Ca3 053055 + V/15¢31 33 cégc})5

_\/_031 033 053055 + \/70311 0531 053 055 3\/_4031 033 C53 0315

+v/210¢31" ¢35 c55°¢35) /(o) 2/

16



D4

cI>65

e5(5.,3)aes(1,1)s = 5 =25 (3V/T0(chy Peyes? — 3VEB(ch)* e
+1v/210(c3,)? 053055 - \/m(czn) cBacst +3V5(ch) )2y ¢y — V15(cdy) 55l
+\/_(C31) o Chs — 6\/7031031053055 +4\/7031C31C53C55 3\/_031031053055
"‘4\/7031031053055 10\/7031031053 055 + 12031031053 055 \/7031031053 C3s
+2v/14(c§,)? 053055 3V14(c4,)? 053055 + 6v/5(c3;)? 053055 10v2(c§,)* sl
+6v/5(c5, ) ca3 chs — 3V 14(ch,)? 053 055 +2v/14(c§,)? 053 055 +2v/14ey; 0310530553
—3\/_40511031053055 + 6\/_031 C31053055 - 10\/7031 C31053055 + 6\/_031 €31C53 Cés
—3\/_4031 031053 C55 + 2\/_031 C310533055 \/_031 C3lcg3055 + 12¢5; C31C§3055
—10f031 C31053055 + 4\/_031 C31053055 - 3\/_031 C31053 055

‘|‘4\/7031 031053 C55 6\/_031 C31053 055 + \/_(031 )? C530551 - \/ﬁ(c?ﬁl)%g?ﬁgs
+3f(031 )? C53055 - \/m(c?&l )? C53055 + \/T(C:ﬂ ) C53 055 - 3\/_(031 ) C53 C55
+3v70(c31' )55 B5) /() /3

c5(3,3)203(3,3)2 = 211 %(6(0;,3) (053 ) - 2\/_(033) C53 053 + 2\/7(033) 053?)0%3
_2\/7033033(053 )? + 200330330532053 10\/_0330330533053 2033C§305310g3
+\/7033C330532053 - 5\/_033033053 Cs3 + 4(033) (ng) - 6(Cg3)205310%3
+10(c95)cs3 c3y + 2/ 15¢53 e (c55)? — 10V 233 g B + 10c35 cscny chg
+v/30c35 0330531 Dy — 15¢33 CGyCs5 Cha + 5\/_033 (3353 CB3 — 605310§3(Cg3)2
+9¢33 0330531 053 15¢33 0330533053 2033 C33C85Ch3 + \/_033 0330531 C53
—5\/7033 033053 053 +6(ca3)? (053) - 2\/_(033 )2ngc§3 +2v/15(ca3 ) c55 B
—5/2 033 033053 C33 + 5\/_033 033053 Ch3 — 25033 033053 CEs + \/_033 C33C83Ch3
—15¢57 ChyCs3 €y + 5V/1BC35 CaCay €y — 2\/_0532033(053) + 20c35 B3¢y cy
—10v/2¢55' G355 €3 4 103573 (B3)? — 15¢33 chycsy chy + 25¢33 chacs' By
—5V/2035 BacBschy + 5V15¢35 Ry By — 25033 ey cy + 2v/15¢53 ey (chy)?
—10v/2¢55°c33¢05¢25 + 10¢33 chycsg cdg) /(o) *?

¢s5(3,3)2c3(3,1)2 = 2_11 1(\/60§10§3(0531)2 - 2\/503103305_320(5)3 + \/EC§10330533051>3

—V/6eky csy c + 3\/703103305_320%3 53¢k sy cas + 2V/06¢3, e (0(5)3)2
_3\/_031033105310é3 + 5v/6¢k; a3 ¢53 g — 2\/70310532023053 + 5v/6ck e ey ng
_5\/EC31C33 C53 C53 + 3\/_031033 (053) - 10\/7031033 053053 + 5\/_031033 C53 Cg’s
_\/%Cglcg?,(%z% ) + 10031033053 C53 5\/_031033053 Cs53 + 46310336531623
_2\/_Cglc§30532051>3 + 10\/7031033053 Cs53 — 6031033(053) + 9031033053 C53

15031033053 053 + 40310331053053 2\/7031 C33 053 053 + 10\/_031 C33 C5320:5)’3
—\/7031033 (053) + 103, ¢35 C53053 5\/_031033 0531023 + 3\/7 O s (cs3 )
—10v/3c3;' C33053 C53 + 5v6c3 clscsy chs — 2v/5es) 033053 053 +5v/6c3 e chs
—5\/_031 033053 C53 + 2\/_031 033(053) 3\/7031 033053 C53 + 5\/_031 C3:’,052’)30§3
—fc31 C330(5]3053 + 3f031 033053 C53 5\/7031 033053 C53 + \/7031 C33 (053)
—2\/_031 C33 C53053 + \/_031 C33 0531023)/ (000)28/ ’
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1 /2 B
= 3 5(3(051’)1)2(0531)2 Y 30(0%,1) 053 C53 + V1 (031) 053 C53
\/_031031053 Cs3 T+ 3\/_031031053 053 5\/7031031053 053 + 2£C31) (023)2
_3(031) 0533053 + 5(031) 053 053 + 2031 031(0(5)3) - 3031 C§1053 Csl>3
+5C31 C31053 053 \/_031 031053053 + 3f031 031053 1053 5\/_031 €31C53 c§3
+3(C31 ) (051)3)2 -V 30(031 )2023033 +v1 (031 ) Cs3 023)/(000)28/3

Dy = 05(37 3)203(1, 1)2

1
21
_\/7031033051053 + 2\/7031033051053 3031033051 053 + 60310331051053l
_3\/_031033 051053 + 60310331051 C53 \/7031033 C51053 + 4\/7031033 051053
_1003103320511053 + \/7031033 C51053 - 5\/7031033 051053 + 1503103330511023
_5\/_031033051053 + 50310330(5]1053 f031033051 053 + 4\/_031033051%32
8031033Cg1053 + 2\/70310330511053 3\/_031033051053 + 9031033Cg10g3
_3\/_031033051 053 + 2\/7031033 C51053 80310331051053 + 4f031033 C511053
_f031033 C51053 + 50310332Cg1053 - 5f031033 C51 C53 + 15031 0330510533
_5\/_031 033051053 + \/_031 0330511053 10031 033051053 + 4\/_031 033Cg10531
_\/7031 0330511053 + 6031 033051053 3\/7031 033051053 + 6e3p 0330511053
_3031 033051053 + 2\/7031 033Cg1053 \/7031 033051 053 +C31 03310é10%3
—V/Beat cag 813 + V15c3 ¢y cap ¢dy) [ () *®

Des = ¢5(3,1)2c3(3,1)2 = (V C3103,?,051)1053 \/70310330&053 +C310§305110531

D9 = c5(3,1)2c3(1,1)2 = —(\/ﬁ(czln) 0510533 - \/3(051),1)20(5)1053 + (C§1)2051IC5_31

105

_2\/50&0%,1051053 + 4031031051053 \/703103105_110(5)3 + 2(031)20%1053
_\/7(031)20(5)1023 +2(c)csr chs + 2031 031051053 Ve el
+2¢31 ¢31651 ey — VOes ek g + Ay B B ey — 29563 ¢ e 2
+(031 )2chics — \/5(031 )?c8 ¢35 + \/7(031 )%csi 023)/(000)28/3

1 /1 _ _
Do = c5(1,1)2c3(1,1) = 3 5(3(0%,1)2(0511)2 - 60%1051310511021 + 2(021)2(0(5)1)2
+2(0g1)205110%1 + 20§110§1(051) + 2¢q C310511051 6cgy Cglcglcél

+3(c1')2(c51)?)/ (cfp) ™
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i = s(5,5)aea(h ) = oo o (<TB(h)H(e)? + 10VETO(chy e
_20\/@(044) 055 055 + 60\/7(044) 055 055 - 30\/_(044) 055 055 + 45\/_044044(055 )2
_60\/_044044055 055 +24 105044044055 Ch5 — 36\/_044044055 C3s
+90\/7044C44C55 055 + 5\/7044044055 Cs5 — 6\/_044044055 Cfl>5
le0\/7044044055 Cs5 — 21\/7044044055 Cs5 + 45\/7044044055 Cs5 — 50(044) (0(5)5)2
+90(024)205_51055 — 60(ch,)%cs5 s + 10(c)y)cqs ¢ + 60(044) Cas Cas
—150(cy)? C55 35 — 45\/?044 044(055 )? + 42\/7044 C44055 055 84\/7044 0440553055
+36\/27044 0440554055 18\/_044 044055 Cs5 9\/7044 C44055 055
+27\/ﬁ02410421405520%5 90v/3cy ch4css cas + 189¢y 0440554025
_81\/_024 C4405?5 Cés + 85024104114(0(5]5)2 - 1530;4104405_5 C55 + 102¢y4 0440552055

—17cy C4405530§5 102014 C4405_5 055 + 255024 044055 C55 + 5\/7044 044055055
_6\/7044 C44055 055 + 10\/_044 C44055 055 21\/_044 C44055 055
+45f044 C44055 055 75(044 )?(cks)? + 10@(044 )%c5C35 — 20\/7(024 ) 0551025
+60\/7(CZ4 ) 055 C55 - 30\/_(044 )205_53025 + 30\/_044 C44(055 )? — 28\/_044 C4405520(5)5
+56\/7044 C44055 055 24\/_044 C44055 055 + 12\/_044 Ca4Cs5 C§5
+5 \/WC44 044055 055 105\/7044 044055 055 + 50\/7044 0440553055
—105\/?044 044055 055 + 45 \/_044 0440555055 40044 044 (055) + T2¢y4 0440551 Cs5
4802420240552035 + 8Cii CyCas €5 + A8ci ChyCas Cas — 1200242042140555025
_9\/7044 044055055 + 27\/_4024203140551035 90\/_02420}14055 Css
+189¢; oy cas — 81VBeri el css By + 45v/10¢ cly (chs)?
—60v/2Te5 ey c85¢35 + 24v/105¢57 ¢, 55 ¢35 — 36\/7044 04405520315
+90V2¢ cycay s — 14V 15c el 55 s + 42¢/14¢5 ¢l 044055 Ci5
_140\/70243034055%%5 + 294044 04405_54C§5 126\/70243034055 055 350243024 (0(5)5)2
+63¢54°ChyCo5 Chs — 42¢150 ¢y 055 + 7C44 Pclacas ¢35 + 42¢y C440554055
—105¢y4 04405_55025 + 5\/WC44 044055055 105\/_@;4 04405:51 Cs5
+50v/21 ley 0440552025 1057 C44 C44055 Ca5 + 45+/35 OCy4 0440554025
—45 \/_044 C44(055) + 42\/70;4304114055055 84\/7044 0440551 Cg5
+36\/7044 044055 C55 18\/_044 0440553055)5 + 140644 044(0(5)5) — 252¢y, 04405_510},5
+168cyy 0440552055 28¢y, 0440553055 168044 044055 AL 0440555025
—14V/15 044405’14Cg5055 + 42ﬂ044 0440551 35 — 140\/_044 0440552025
+294cyy 044055?’0%5 126\/_044 044055 055 + 30\/?044 044(055)2
—28\/_04440314025055 + 56v/6c5, cycas c3s — 24V/21eyy ¢ 8 chs
+12v/35¢5 cycss’cls) [ (o) O
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Doy

cs5(5,5)2c4(4,2)2 = % 30(1)3 (5\/_042044(055) - 2\/%031202405_520&
+4\/_4042C44C55 055 12042044055 055 + 2\/70420440555055 5\/7042044 Cs5 Cg5
+2v/105¢3,¢54 055 055 10V 10c3,¢h ¢55°¢Es + TV/30¢h,c0 055 3

—15v/6ci,¢0 055 055 +5v/30c5,¢08 (055) — 9V30ciycaicss s + 6330k, sy c2s
—V/30ckcui 055 055 6v/30¢i,Cai Cos 055 + 15v/30c, ¢ a5 ¢35

_5\/7042044 055055 + 14\/_042044 Cos 055 10\/_042044 Cs5 Cgs

+7\/TC42044 C55 Chs — 15\/_042044 C55 25 + 5v210¢5,¢4' (ch5)?

—140¢i¢1q ¢4 055055 + 56v/5c3yCas Cos €5 — 12V/T0¢hych ¢ chs

+10\/7042044 C55 C55 5\/7042044(055 ) + 1()\/71042044055 0(5)5

_4\/7042044055 055 + 12\/_0420440554055 - 10\/_041120}140555025)’5

+4\/_C42C44C55 C55 8\/7042044055 055 + 40\/_0420440553055

_28\/_042044055 055 + 12\/_042044055 C55 10\/_042044 (Cgs)

+18\/7042C44 C55 C55 12\/_042044 C55 C55 + 2\/_042044 0553025

+12\/7042C44 C554055 - 30\/_042044 C55 C55 + 200420442Cg5055

_4\/TC42044 055 C55 + 40\/_042044 055 055 28\/_042044 0553055

+60\/7042044 055 055 5\/WC42044 (055) + 70\/7042044 055055

_28\/_042044 055 C55 + 12\/_042044 C55 C55 10\/_042044 0553025
+15v/5cyc3,(c55 )% — 10\/7042044055 Cs5 4\/TC42C44C553055

—12v/15¢3,¢5,655 ¢2 C55 + 30cyc3, 5 Chs — 10\/7042044055 C55 + 6/70c,¢hu 55 chs
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—36V/Tclschycs5cds + 12@053053055 Ch5 — 42\/70530530555035
—2v/30¢33¢% (cs5 ) + 6V Tcsckye5s s — 6V 10c0¢3¢55 ¢35 + 12v/685¢35¢55 2
_6\/EC(5)3051>3C55 055 + 10\/_053053055 Cs5 — 30\/_0530530553035
+12\/7053053055 Cs5 + 18(053) (0(5)5) - 24(053) C55 055 - 6(053) C5_52055
+36(C53) C55 C55 36(053) C55 055 36(053) 055 055 - 12\/7053 C53(0551)
+18v/1dess ¢ 053055 055 36v/5¢55 ¢ C53055 C55 + 72355 cacsy 3
+ 16\/7053 EyCs5 s — 8V/T0c55 By 055 +16v/15¢53 C530553055 9655 C23C55 Cas
—6c55 053(055) + 8cs3 0530551055 + 2¢53 C530552055 12053 ' ChaCas Ch
+12¢53 C53055 055 + 12¢55 chaCay) 055 6\/7053 Byclschs + 10v/21cs3 C530551035
—30v/2¢55 ¢} C53055 055 +12v/30c55 ¢} C53055 055 +20(cs3)? (055) — 2v/210(c53 )25y
+20\/7(053 )? 055 Ch5 — 24\/_(053 )? 055 35 + 12\/_053 053055 CBs — 10\/7053 0530552055
+60c57 C35Ca5 055 247/15¢53 cacsy) Cas — 42055 2y (<l )? + 5653 C2Cas Chs
+1dcss Byt By — Bhess Ryt s + 84csy Cacay s + 84cs CRyCas ¢l
+16V/3c55 chaclschs — 8V/T0cs; chacss ¢35 4+ 16V 1553 chacsd chy — 96csi chycss 055
—2v/30¢55 053(055) + 6V/Tcs5 sty — 6\/_05320(5)3C§52C§5 + 12\/705_320(5)3055 C35
—2/T0c57 55 chs s + 12V 155 e s chy — 4121053 053 C55 Cas
+28v/3¢55°Ca3 G55 B + 35(¢55)% (c25)? — 10\/7(053 ) 055055 + 6v/70(c57) 2535
_Qﬁ(053 )205_51055 18¢53 c3q (055) + 24c53 ey ey + Bcss’chycssicls

—36c53 C33Cas Cas + 3605_33053055 Cs5 + 36053 PBacas 35 + 12v/Besy cBalscls
—10vV/ 4253 25055 35 + 6053 25055 c35 — 2415055 2 C53055 Cgs
—12v/15c53 clg(chs)* + 18\/705_3305%3055055 36v/5C55 ChaCas Chs
+ 72\/7053 C5:’)05_53025 + 6\/7053 C53055055 36\/7053 053055025
+12v/105¢53' ¢ C53055 055 42v/6¢55° ¢} 053055 C55 14v/15¢53 ¢33 (c25)*
+12v/70¢53 i3 chs €35 — 12v42¢55°c5y Bcds + 12v/1des5' iy e B5) /()33

40



(I)99

1

c5(5,5)4c5(3,1)s = 3 200 ( 7\/7051053(055) +4dv 1050%102305530551

_12\/_Célcg305540(5)5 + 4\/7051053055 055 + \/Wcélcg?)cgfcg;

_6\/7051053055 055 + 6\/7051053055 055 21\/_051053055 Cs5 — 5\/_051053 (055 )
+3\/_051C53055 055 15\/_051053055 055 + 6\/7051053055%?5

+2\/_051C53055 055 5\/7051053055 Chs + 10\/_0510530553035

_12\/_051053055 055 3\/7051053 (055) + 4\/_051053 055 055 + \/_051053 Cs5 Cgs
_6fc51053 C55 C55 + 6\/_051053 C55 055 + 6\/7051053 055 055 + 3\/7051053 C55Cé5
—\/Wc5lc53 C55 055 + 3\/7051053 C55 C55 6\/_051053 C55 055 \/7051053 (055)2
+\/7051053 C55055 \/7051053 055 055 + 6\/7051053 C55 C55 + \/7051053055 055
_6\/?051053055 C55 + 2\/WC51053C554C55 7f051053055 C55 2\/7051053(055 )
+6\/?C51053055 055 6\/_051053055 C55 + 12\/7051053055 Cs5 t+ 3\/_05105305510g5
_5\/7051053055 055 + 15\/_051053055 Cs5 — 6\/70510530555055 12051053(0(5]5)
+16¢5, Bycs5 C55 +4cd yesd 055 2405105305530§5 + 24¢8) yess'chs

+2465, Bac53 C55 + 3V1063, ¢35 cBschs — 5V21c)) 55 ¢ B + 15V/2cR ¢35 e 3
—6v/30¢2, ¢ C55 055 2v/30¢0, ¢55 (055) + 6\/%%105_320%055 — 6v10¢0) ¢ ¢35 ¢
+12v/6cd ¢35 055 055 +V/35cd e el el — 6\/_051053 055055 + 2m051053 0551055
—7\/7051053 055 055 \/_051 053(055 ) +v21 051 053055 055 V30 051 053055 C25
+6v/2c5; 053055 055 + 3v2¢5) ey s — V/105¢5; ¢ 053055 055 + 3\/_051 Eycss Ry
—6v/6c5,' ¢ 053055 055 3v6cs1 chy(cds)? 4 4V/6c5) chacsy chs + V0051 chacss ¢35
—6v/6c5; chacsy c3s + 6765 cigens Cas + 6\/705_11051)30555025 + 2\/705_110230(5)5%5
—5v/14¢5] 05305_51035 +10v/3c5; 05305_52C§5 12v/5¢5; ycss'cls — 5V/6c51 a3 (chs )
+ 3\/_051 053 055055 15\/_051 053 055 055 + 6\/_051 C53 0553025

+ \/W051105_32055C55 6v/21cs; c55 c5cls + 6v/3bes) o s i

—21v2¢5] 053 055 055 - 7\/_05_110533(055) + 4v/105¢5, ¢35 i3

_12\/_051 053 055055 + 4\/7051 053 Cs5 055)/(000)32/3
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¢5(5,3)ac5(3, 1)1 = 814 715( 105v/1dcg, (c35) 55 + 43v/210¢5, 55685055
+81v/1deg eiyedsesy — 27v/T0e5 (c53) ey — 258/ Teg esedscss
"‘32@051)10(5)30%305_53 + 38\/%%10(5)3051)30552 - 38\/175%1(023)205_51
+86v/42¢k 53 053C§5 — 59v/42¢} 55 053C§5 + 21\/_051053 053055
+55\/_C51053 053055 22\/7051(053 )? 055 - 43\/_051053 053055
"‘102\/7051053 053055 123\/7051053 053055 + 68\/7051053 0530%5
+6\/7051053 C53 C55 3\/_051(053 ) 055 + 43\/7051053 053055
_145\/_051053 053055 + 2680510533053055 48\/7051053 C530§5
+21V42¢} c55' sy ¢y — 5210k 53 ¢ 055 +15v/14c}) (c55) ey
_5\/_051053053055 + 24\/7051(053) C55 - 38m0g1cé30g30554
_69\/7051053053055 + 16@051(053) 055 + 162\/70510530530553
_28\/?051053053055 101\/_051053053055 + 240051(053) Cgs
—124v/14cd c55 3 C53055 + 2113l ¢35 C530551 308, C5 Chachs
—101\/_051053 C53055 + 16@051(053 )?c3s + 167\/_051053 Bycss
—480¢d ¢35 C53055 + 211\/7051053 Chachs — 28T, e Byl
—69v/14cd ¢35 053 C55 + 24703, (¢35 ) C55 2103, ¢35’ By
+167v/5¢8, 53¢ C53055 12414, c55°ch C53055 + 16273, ¢35 C53025
—38\/7051053 C53 C55 5VA2eY 55 e C55 + 15v/14c57 (c33) %55
—5\/TC51 C53053055 3\/_051 (053) 055 + 21\/7051 C5:’,0530553
+6\/7051 053053055 22\/7051 (053) 055 48\/7051 0530530552
+68\/_C51 053053055 + 55\/7051 053053055 38\/7051 (053) 055 + 268c5; 05310§30551
_123\/_051 Co3 053055 + 2115 ¢34 chschs + 38\/_05_1105_31053055
—27v/T0c5; (53 )?c35 — 1453 e cacls + 102v/15¢5, 55 053055
_59\/7051105_320%3055 + 32215 e’ Yy + 81V 14cs ¢35 ¢y 3
—105v/14¢57 (c55)% el + 43155 e55' clachs — 43v/T0c51 ¢33 053C§5
+86V/42¢5, 53 chacls — 258/ Tesy ¢53 Bachs + 43v/210¢5 ) 55’ ey €35 ) [ () */?

42



